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No. of Questions ;: 150
Uyl T 150
Time : 2 Hours Full Marks : 450
9T ; 2 yUg quriE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted Jor each incorrect
answer. Zero mark will be awarded for each unattempted
question.

aﬁmﬁmmﬁaﬁwmﬁa&rmaﬁmﬁaﬁnﬁs(ﬁﬁ)
AE W B qEE TaT IUC B T @Fm orE #ver spEary
HN ARG 99T @ AIAE gy S |

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

Qﬁwfﬁzs%mmﬂﬁw%ﬁaﬁnﬁﬁafﬁﬁm
el I T

01. Language is primarily a communicative system shared among hu-
man beings employing :

(1) Email (2) Vocal means
(3) Phone (4) None of the above
AN GEA: 7g @l B Hed S99 1 Hread 8 frad
(1) z7@ (2) dreheT ATy
(3) Wi (4) = q HF L
02. Which among the following is not a classical language ?
(1) Tamil (2) Santhali
(3) Kannada (4) Sanskrit

3 P.T.O.
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=i & @ S sl |mr s ?

(1) afys (2) e
(3) wHE 4) wega

03. The famous work by Kalidas among the following is :
(1) Mrichhakatika {2) Abhigyan Shakuntalam
(3) Panchatantra (4) Sidhanta Kaumudi
i 9 9 witee & ofes @ 2
(1) gohies 2) Sf¥EsmITEaTg
(3) yer= 4) Prerprgd

04. The Hindi word jaat:paat 'caste and creed' is an example of :
{1) Partial Reduplication (2) Simple Compound
(3) Sandhi (4) Onomatopoeia
Bl == SIra-gra @erEYT ® o
(1) SFifs SEECoT (2) €rERYT 999
(3) @iy (4) STARIEIATET

05. The author of ' The Origin and Development of Bengali" is :
(1) Suniti Kumar Chatterji (2) Baburam Saksena
(3) Dhirendra Varma (4) Katre
T W ITT qE % q@H B
(1) g HAR =g (2) Y UH GFA
(3) Rt (4) &=

06. The person who guided the People's Linguistic Survey of India is :
(1) O.N. Koul (2) D.P. Pattanaik
(3) G.N. Devi (4) Grierson
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os.

10.
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Wﬁﬁﬁemﬁmgﬁmmﬁﬁsﬁ%m:

(1) oN.uH. HF 2) F{.N. greTgs
(3) Sit.us. (4) Fads

Identify the 'Classical Language' among the following :
(1) Bangla (2) Oriya

(3) Hindi (4) Marathi
FAMHHT AT Y gegEy .

(1) rem (2) ST

(3) B’=h (4) =HUS

Which was the first linguistically organized Indian state after inde-
pendence ?

(1) Orissa (2) Maharashtra
(3) Andhra Pradesh (4) Karnataka
aﬁm%mw%wwvﬁmmmm?
(1) 3IFar (2) BRI

(3) I H9T (4) @HIeEH

The official language of Bihar is :

(1) English (2) Hindi

(3) Punjabi (4) Marathi
FER & onfeemfs s .

(1) oS 2 &=h

(3) gorrEt (4) TS

How many languages are recognized in the Eighth Schedule ?

5 P.T.O.
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11. The creation of the following new state calls into question the relevance
of the linguistically based reorganization of states in India :

(1) Tamil Nadu (2) West Bengal
(3) Telangana (4) Kerala

T TS B ST (ARG H A & AER G TG WGP

(1) ey (2) ufeed s
(3) Q=AY (4) A
12. Which is the Dravidian language spoken in parts of Pakistan ?
(1) Punjabi (2) Urdu
(3) Brahmni (4) Sindhi
giftpeaa & el & 9l s g &g 9o 7 7
(1) YT (2) I
(3) sgg (4) fa=dy
13. The European scholar known for his Kannada Grammar :
(1) Andronov (2) Kittel
(3) Gundert (4) Kamil Bulke
A qUd REs 99 s el & g gfs 8 ?
(1) A= (2) PRI
(3) o (4) eHITHST g
14. Which language belongs to the Munda family ?
(1) Chinese (2) Santhali
(3) Dogri (4) Malayalam
Hr-d AT geer wRaw § gwfeg ® 2
(1) = (2) e
(3) s (4) FTARH



15.

16.

17,

18.
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The language belonging to Indo-Aryan among the following is :

(1)  Sinhalese (2) Kodagu
(3) Santhali (4) Kota
IS §RI-3 g9 & gy D

(1) F&se (2) =HIsY
(3) wewit (4) ey
Khasi is spoken in :

(1) Andhra Pradesh (2) Meghalaya
(3) Punjab (4) Bihar
et 9T e sl

(1) STFer s (2) e
(3) 9ot (4) TeBR

Sanskrit, English and Greek are said to trace their common origin
from the following language family :

(1) Indo-European (2) Semitic

{3) Dravidian {4) Sino-Tibetan
G, SIISH A Wil ety ® oW qfar |
(1) s=-gfas (2) anfees

(3) =fafesg=w (4) aEA-fssae
Pali is the language preserving the sacred texts of this religion :
(1) Jainism (2) Zorashtrianism
{3) Buddhism (4} Islam

aifer T & o weer gRfg ®

(1) Sieres (2) =g

(3) e (4) s

7 P.T.O,
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19.

20.

21.

22.

" (3)

Dutch belongs to this
(1)
(3)

Semitic

Germanic

Ty o gt B

anfes
GEIEC

(1)
(3)

Urdu is the national |
(1) Saudi Arabia
(3) Maldives

g OTAMT B
(1) drsEt oRfe=
ST

anguage of :

Prakrits have developed from :

(1) Sanskrit

language family :

(2)
(4)

(2)
(4)

(2)

(2)
(4)

()
(4)

(2)
(4)

(2)
(4)

(2)

(3) Gaelic

grepa BT e ga

(1) dep

(3) Aferen

The writer of 'Language Instinct' is :
(1) Gleason

(3) Hocket

&g g’ B AES © ¢

(1) *EH

(3) BT

(4)

Dravidian
Indo-Iranian

sfafsas
ERCIEE U R R

Bhutan
Pakistan

T
L lIETSIG]

Apabhramshas
Celtic

STHIT
Hiveeh

Bloomfield
Stephen Pinker

FADHITS
fems [T
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25,
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Panini wrote the following work :
(1) Vaakyapadiyam (2) Sidhanta Kaumudi
(3) Ashtadhyayi (4) Vyaakaranamitram

WS N o Teer o e @y
(1) arrETEEy (2) Rrer=r P

(3) oTSITETdY | (4) SATEHTT Py
Which among the following is an isolating language ?
(1) English (2) Turkish

(3) Dutch {4) Vietnamese
Frefofed & & & Ry s 2 7

(1) aF3Ish (2) I

(3) =T (4) Taga=m

Which one of the following languages has ‘Subject-Verb-Object' as
word order :

(1) French | (2) Hindi
(3) Telugu (4) Japanese
Frafifeaa 7 & geiioe-ad-smemsege’ &9 &
(1) %= (2) =i
(3) &g (4) ST
Identify the Portuguese word in Hindi :

(1) darpan (2) nadi
{3) patloon 4) jal
B & gmelt o= & yeamr %5

(1) o (2) &

(B} 9O (4) S/

9 P.T.O.
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27. What kind of compound is kaalaapaani 'a kind of excommunication'

28.

29,

30.

in Hindi ?
(1) Dwandwa
(3} Bahuvriihi

et & ‘FremaE
(1) &=

(3) wgdife

(2)
(4)

Karmadhaaraya
Dwigu

fope WX & GHTE © 7
(2) HHURY

(4) fa7

The linguistic variety that is utilized as a link language in a multilin-

gual setting is know
(1) Standard Lang
(3)

Vernacular

(1) orEsl e

11 as .

ruage Creole

(2)

(4) Lingua Franca
gEa &= F S W Sl SRR I8 FEd @

(2) U |

(4) fRiwar sharan

(3) FERRIE

The following langu

age looks upon Persio-Arabic as a source for ex-

panding its vocabulary :

Hindi
Tamil

(1)
(3)

Urdu
Sanskrit

(2)
(4)

S R ST HIE-oTE B 19T IT=E! 9gM @ e 'ia &t

3T e B :
(1) &=
(3) afta

'Bruhatkatha' is believed to have been originally composed in which

language :
(1) Paishachi
(3) Persian

Sanskrit
Avadhi

(2)
(4)

i0
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32.

33.

34.
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gechtl ol ®9 H by wor | e o ¢

(1) YR (2) H&HT

(3) Il (4) oTad

The first major Linguistic survey of India was conducted by :
(1) Turner (2) William Jones

(3) Grierson (4) G.N. Devi

AR = TH Ao feifaies gd fhar @

(1) =R (2) faferm siea

(3) b= (4) SH.aq. &t

The symbol for the dental stop is :

(1) [t] (2)  [m] (3) [K] “4) [c]
g & o Bree §

() « 2) # 3) = 4) =

Which languagc is Bangla closely related among the following ?

(1) Telugu (2} Kurukh

(3) Pengo (4) Oriya

Frafafee & & @F-8 A S @ e ' wrEi ® o
(1) Ty (2) HHI

(3) I 4) Sfear

How many syllables are there in the word 'Puurvaanchal' ?

(1) Three (2) Five (3) Two (4) Four
gaters § foaA eresare® & 7

(1) &= (2) 9= (3) =& (4) AR

11 P.T.O.
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35. Who wrote ‘Vaakyapadiya' ?

36.

37.

38.

39.

(1) Hemchandra (2} Patanjali
(3) Bhartrihari (4) Mammat
TR & AEF P T

(1) 9= (2) dYasfer
(3) wfslR (4) 7™
The Hindi Tatsama word in the following is :

(1} Jal {(2) raat

(3) aansu (4) paani
fedl oot wisg B

(1) S« (2) T

(3) Y (4) arht
Identify the Hindi loan word in English :

(1} Comfortable (2) Gherao
(3} road (4) voyage
e | ofdsht & Qe o mar s &

(1) F=Hser (2) W=

(3) s (4) a&st
What is the correct antonym of warm ?

(1) hot (2) winter
(3) cold (4) soothing
aml ot faem g B

(1) &fe (2) R¥ex

(3) TS (4) wRIfREr
What is the synonym of defer ?

(I) Postpone (2} immediate
(3) different (4) intimidate

12
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41.

42.

43.
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BHT T GEERT B 7
(1) greed (2) sffeae
3) BEe= (4) gfefEe

Which dialect of Hindi is generally associated with Ram Bhakti
poetry ?

(1) Braj Bhaasha (2) Magahi

(3) Abadhi (4) Bundeli

TR SfEaaT @ B S ST A S § 7
(1) SorHTET (2) T

(3) oTae - (4) gl

Choose the state where Tamil is one of the official languages :
(1) Andhra Pradesh (2) Rajasthan

(3) West Bengal {4) Pondichery

IH U= H FAT HSQ FEl afe iR oy B
(1) ST g3t (2) ORI

(3) ufReH s (4) gifzad

Which language has not developed from Sanskrit ?

(1) Hindi (2) Gujarati

(3) Marathi (4) Kannada

- A Epd | T8 Reiga g 7

() f=i (2) TN

(3) = 4) TS

Who is the author of 'A Comparative Grammar of Dravidian lan-

guages' :
(1) A.O. Hume (2) Sir William Jones

(3) Rev. Caldwel (4) William Bright

13 P.T.O.
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44,

45,

46.

47.

‘QW&aW~maﬁﬁwﬂ%¥aﬁw’%M%:

(1) w.al. ggy
(3) M. Hre=aT

(2) G [afgam s
(4) faRmw sEe

The Hindi word hawaj- jahaaz ‘air-plane' is an example for :

(1)
(3)

Endocentric Compound
Exocentric Compound

(2) Copulative Compound
(4) Avyayibhav Compound

fé"-é’rw&rsméfﬁsmam‘gw%:

(1) gBRtes Tyes
(3) zwFfafs Fqo=s

The state wiii- Engl;

(2) FgART wHrars
(4) AIAHEg Frgrae

sh as the state language in India is :

(1} Karnataka (2) Arunachal Pradesh
(3} Gujarat (4} Bihar

@ WY Tt ST o &

(1} =tess (2) TGO UeT
(3) TSI (4) T
Shaurseni prakrit is the antecedent of :

(1) Western Hindi (2) Marathi

(3) Eastern Hindji (4} Kashmiri
M g g Wy ®

(1) giverdt fa<d (2) "ot

(3) qdt f&=h (4) FEH
Konkani is the major language of :

(1) Madhya Pradesh (2) Orissa

(3) Goa (4) Gujarat
P TG W

(1) 77 ydyy (2) IFraT

(3) Ten (4) IR

14
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48. How is the Hindi word daak-ghar related to the English word post-

49.

50.

§1.

Loan blend
Loan shift

fdl &1 srepER s AAUSH g ORe oiffew HE g=ftud B ?

office ?

(1) Loan translation (2)
(3) Loan (4)
(1) SHIT Sgar= (2)
(3) SEX (4)

Select the synonym of the word jolly :

(1) bitter (2)
(3) wicked (4)
et orsx @l FHEERT A

(1) ear (2)
(3) = (4)
‘The author of 'In an Antique Land' is :
(1) R.K. Narayan (2)
(3) Amitav Ghosh (4)

‘0 HE AVS’ F AEE © ¢

(1) IR.&H. ARG (2)

(3) oIfETH =iy (4)
'Shekhar ek jiivnii' is the work of :
{1} Bhishma Sahni (2)
{3) Agyeya (4)
/g : u STEer & @@ B

(1) 7 €rst (2)

(3) oY (4)

15

IR A
I o =

very happy
bad

HEA=T G

g

Arundhati Roy
Sarojini Naidu

STEEAT T
AR g,

Phanishwarnath Renu
Harivansharai Bachchan

HofieaR AT 9]
eREsr T T=+

P.T.O.
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52. Which among the following is not an articulator ?

(1) Lips (2) Teeth
(3) Tongue (4) Nose
e R enfdgmer Wl B -
(1) o (2) a&ra
(3) ey (4) =ATiRTeRT
53. Find the simple word among the following :
(1) Computer (2) Endurance
(3) Neat (4) Wisdom |
T e # A we o ez
(1) F=gry (2 R
(3) e (4) fasTSH
54. Identify the noun with a diminutive suffix :
(1) Booklet (2) Reinforce
(3) Ability (4) Hardship
I €3 W geEE i
(1) Fwdre (2) Rz=mrg
(3) ufeferd (4) erSfarg
58. Who wrote the novel'Godaan' ?
(1) Sudarshan (2) Premchand -
(3) Jainendra Kumar (4) Rangeya Raghav
MM AT H g B T 7
(1) gasi= (2) 3 =
(3) 9= FER (4) W IEg
56. Who among the following is associated with Nirgun Bhakti poetry ?
{1) Rahim (2) Tulsidas
(3) Surdas (4) Kabirdas

16
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et sfem wem @ @S9 wafeg § 7

(1) @ (2) e
(3) H=H (4) FEREY
What is the antonym of garrulous’ ?

(1) Reticent (2) Talkative
{3) Big (4) Slim
ey o1 fae BT 2 7

(1) RA\= (2) il
(3) & 4) Rem

Who is the only Indian citizen to have won the Nobel prize for litera-
ture ?

(1) . V.8. Naipaul (2) C.V. Raman
(3) Rabindranath Tagore (4) Hargobind Khorana
B Qb W ARG HifE @ A g AT &7
(1) di.qg. |9 (2) .. RSk
(3) fesmTer TR (4) BCNfE= gu=T
What is the female of a dog known as :
(1} Cow (2} Sow (3) Bitch (4) Pen
(1) =13 2) € 3) Rra (4) O+
The notion that language determines our thought is attributed to :
(1) Bloomfield (2) Sapir & Whorf
(3) Robert Lee (4) Halle
g et 1% AT eAR ae o afrereR @ §
(1) T B (2) I TUE are
(3) e (4) &

17 P.T.O.
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61.

£2.

63.

64.

65,

Which language does the word perestroika belong to :

(1) English (2) French
(3) German {4) Russian
B o= fhE w9 & geafeg ¥ 7

(1) SifsH (2) wrf~aer
(3) ST« (4) =t
The vowel in a Syllable constitutes its °

(1) Coda (2) Peak

{3} Prothesis (4) Onset
qET HARE § grEtag ¥

(1) T (2)

(@) 9=hfag (4) ST=de
Which of the following is not an Indo-Aryan Language ?
(1} Bangla (2) Gujarati
{3) Tulu (4) Punjabi
B-el g-omd e W ¥ 7

(1) s (2) et
3) T (4) G
Which language family does Arabic belong to ?
(1} Caucasian (2) Romance
(3) Indic (4) Semitic
IMH By A IRER ¥ wEfeg § 7

(1) BT L (2) WY

(3) g (4) @Afesw
Which word does not take the prefix laa-in Hindi ?
(1) vaaris (2) javaab
(3} naam (4) ilaaj

18
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68.

69.
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et & foper o & & Breet @€t & 7

(1) ai| (2) ST

(3) -H (4) TSI

What is the active articulator for the sound [m] ?

(1) Velum (2) Back of the tongue
(3) Tip of the tongue (4) Lower Lip

wWT | Pl T BT ©

(1) agH (2) Frgar g=itg

(3) Forgar st (4) STl

Which of the following is not a native sound in Hindi ?

(1) [ 2) [ (3) [pl (4) [t]
Ry # @ 9w e eafy w1t B

(1) % (2) og 3 d (4) @
Which \;vord is the opposite in meaning to 'parsimony’ ?
(1) Extravagance (2) Economy

(3) Frugal (4) Disobey

qiRiA @1 s BE 2 7

(1) TR (2) FeHEEL

(3) T 4) feustg

Identify the Bound Morpheme in Hindi ?

(1) -ik (2) jaanaa

(3) aur (4) laDaka

R T wfs @ gBaE BT ¢

(1) b (2) ST

(3) oir (4) TEH

19

P.T.o’
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70. Identify the Union Territory with Gujarati as one of the official

languages :
(I) Daman and Diu (2) Pondichery
(3} Andaman and Nicobar (4) Chandigarh
Tt 3y s it oo 9w et &7
(1) =9-da (2) uifsad
(3) HAvzH FrepER (4) Tvdme
71. Find the bound motpheme in English :
(1) Man (2)  well (3) ness (4) for
Ao qravs Aty |
(1) = (2) 3T (3) A= 4) BR
72. Which is an endangefed language among the following :
(1) Marathi (2) Kannada
(3) Jad (4) Sindhi
HIF-H Tehewe ANy ¥ .
(1) TOH (2) H-E.
(3) =" (4) el
73. Who is the author of ‘Panchatantra’ ?
(1) Katyayana , ' (2} Kalidas
{3) Vishnu Sharma (4) Gunadhya
qeds W AEw B T ?
(1) s (2) =piTETg
(3) T “4) o
74. Find the lateral from the following : .
(1) [s] (2) [l (3) Ic] 4 [,
R ST T :
(1) @ (2)| = 3) = 4 T

20
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79.
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Find the simple Hindi word among the following :

(1) mitrataa (2) ghar

{3) anaavashyak (4) vaiyaktik

A Bl B 63 9= gq9sy

(1) F=am - (2) "X

(3) STEYIH (4) Fafrre

Hindi word saat 'seven' is a :

(1) tadbhava (2) borrowing

(3) tatsama (4) Neologism
el s1sx w9 B

(1) agHa (2) I

(8) N (4) PSS
The antonym of Hindi word naisargik is :

(1) anashvar {2) kshaNik

(3) kritrim (4) satya
Jafife & e B o

(1) STE (2) &forp

(3) A : (4) &=

What is the Sandhi in the process illustrated here par+upkaar :
(1) Guna Sandhi o (2) Visarga Sandhi
{3) Diirgha Sandhi (4) Vriddhi sandhi
qY¥ + IUHIK & # § B qfer B

(1) o1 | (2) frasrafe

(3) e | (4)  gla afeer
What type of compound is the word uthal-puthal :

(1) Dwandwa (2) tatpurush

(3) Karmadharaya (4) Bahuvriihi

21 | P.T.0.
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80.

81,

82.

83.

SUe-gerd uad 9ss | A HiE 99E B

(1) &= (2) aIgsI
(3) FHURA (4) wgse
The meaning of the Hindi word kleesha is :

(1) dukha (2) mithra
(3) prasannatha (4) kalaha
feell s aW @1 e B

(1) g (2) =

(3) "I (4) =T
Which of the following Hindi words has a suffix ?
(1} baalek (2) shaasan
(3) aatmilya (4) pramaaNa
Frfaftae o=l srer & susdt B -

(1) d9Ic=h (2) QMEA

(3) onfeRy (4) SHETT

What is the case of the object in a sentence ?

(1) Nominative case (2) Accusative case
(3) Dative case (4) Oblique Case
ferddt arrr ® arexr w1 B 7 "
(1) fEAfea &9 (2)

3) a3y (4) mam

When the intrasitive

corresponds to this
(1) The Subject

(3) Oblique Object

sentence is transitivized the former's subject
Grammatical function in the latter sentence :

(2) Ohbject
(4) Instrumental case

37 ama%jaﬂmamﬁ%ﬁwqﬁaﬁq@m%:

helt
FHEHIEE

(1)
(3)

(2) FH
(4) FTEgH<S BH
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Syncope is the loss of consonant or vowel :

(1) Word initially (2) Word finally
(3) Word medially (4} Anywhere
ZoTH & T HEARTT &

(1) <r&% geeyy (2) <Te% 3T=7 H
(3) <= WA H (4) B W

Who is the autor of 'Train to Pakistan " ?

(1) Kamala Das (2) Keki Daruwala
(3) Pritish Nandi (4) Khushwant Singh
‘T g ufhEIE’ & s ® 7

(1) =T S (2) bl ITEATAT
(3) shfers=i (4) gea e
Who among the following is a Gyanpith awardee ?
(1) Sitakanta Mahapatra (2) Nagendra

(3) Saratchandra Chatterji (4) Yashpal
Fr1 # smdie geen R ure garr 8 ?

(1) HRITH< HSYTEHT (2) AF=

(3) yRTE= Test (4) g

Who is called the father of modern Linguistics ?

(1) Ferdinand De Saussure (2) Sapir

(3) Bloomfield (4) Pike

ayfsE AT R & S R et Soar © 7
(1) weiMvs f& 9 (2) afx

(3) =HBITS (4) qrzH

The following language is recognized in the 8th Schedule of the con-
stitution :
(1) French (2) Badaga

(3) Parsi (4) -Nepali
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89'

90,

91!

92.

A Rl smar area dfenT ot otredt s ¥ sfveRa @

This language was r
schedule :

(1) = (2) arm
(3) 9REr (4) <gret
The writer of 'Mahabhashya" is :

(1) Patanjali (2) Mammat
(3) Yask (4) Katyayan
 WEWTY $ s ¥ o

(1) YTt (2) H=E
(3) arEp (4) wHrEET

eecently added to the list of languages in the 8th

(1) Maithili (2) Kota
{3)" Irula (4) Sadri
%maﬁqgmm'qﬂ?ﬁuﬁﬁrmaﬁeﬂaﬁmwﬁfaﬁqﬁmaﬁ
(1) Bl (2) @ier

(3) F&em 4) &

The following is a Eastern Hindi dialeét :

(1) Brajbhasha (2) Chattisgarhi
(3) Hariyanvi (4) Khariboli
i ot feedt it B S
(1) SoTHST - (2) BT

3) s (4) @& O
Who among the following is a Neogrammarian :

(1) Bloomfield | (2) Hjeimslev
(3) Karl Brugman | (4) Hocket
Fr=feiaa & 9 B9 7o s © -

(1) =qaeies (2) R
(3) @It FI (4) e
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The dichotomy of 'language and parole' is attributed to :

(1) Saussure (2) Chomsky
(8) Sapir | (4) Lyons
A T4 WIS F1 o+ 3 qgs & -

(1) ®ER (2) =TT
(3) Y 4) =

Strict Pronunciation of the Vedic Hymns in the Indian tradition was
ensured by the study of :

(1) Pratishakya (2) Shiksha
(3) Padapaatha (4) Nirukta
afeeh et & ure W 9REQY & oApy D 7
(1) wfasmeg (2) faram
(3) qEUTE (4) o
The following is one of the official languages of Telangana :
(1) Tamil (2} Telugu
(3) Marathi (4) Kannada
AT & STieepies aST § -

(1) TP (2) T
(3) #RISt (4) S
Implosives are found in :
(1) Marathi (2) Kannada
(3) Sindhi (4) Bangla
(1) =TS (2) H=Ts
(3) fo=elt (4) ST

The semi-vowel in the following is :

e WY Frefafes B - :
(1) a (2) vy (3) t 4) u
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98. Words having simil;

ar forms but differing in meaning are known as :

(1) Synonyms (2) Hyponyms
(3) Homophones (4) Antonyms
A= TR AR faeg e ored waend § 2

(1) R=ime (2) BEAEEY
(3) B (4) STFERITY

39. A word whose meaning is included in some other more general word
is known as :
(1) Acronym (2) Hyponym
{3) Homonym (4) Homorganic
N R et qE § Rren R omer ®
(1) T (2) sEYEE
(3) EEETTE (4) BHFITIHAF

100. Epenthesis is the insertion of 4 vowel between : -
(1) Between two consonants (2} DBetween two vowels
(3} Before a vowel (4) After a vowel
iR & et & o @ #r A B
(1) = == & 7sg (2) & =i & Heg
3) wh @ dyd (4) & @O B 7y

101. Jayashankar Prasad

is known for the following work :

(1} Ramcharitmanas (2) Ram ki Shaktipuja
(3) Urvashi (4) Kamayani

g AET oHE e | Rl @ @ Riooafye §

(1) wwEfa gy (2) ™ W afF gon
(3) el (4) BHEEH

102, The sound change in

(1)
(3)

Progressive ass
Progressive Dis

dharma>dhamma is an instance of :
milation (2) Regressive assimilation -
similation (4) Regressive dissimilation

i

5
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g aRgds o 9 999 IZeI9T B

(1) udfdE cEifideE (2) At it
(3) unifya feHiffsm (4) Fafea @
103. Which of the following is an example of a sporadic change ?
(1) . Assimilation (2) Metathesis
(3) Epenthesis (4) Apocope
e e 7 e Wi d @
(1) uHifiReE @) FeEfaEg
(3) udirEfyg (4) TUEHIY
104.Find the aspirated dental stop :
&g H A% usEiag :
(1) [t (2) [k (3) [b 4) e

108.The phonetic change in strii > istrii could be termed as :

(1) Epenthesis (2) Metathesis

(3) Dissimilation (4) Elision

eft-geht =y qRadT HewET

(1) shrarg (2) ATy

@) ™= (4) shrEe
106. The language with a retroflex lateral is :

(1) Hindi : (2) Marathi

(3) Punjabi (4) Gujarati

AT RETe deXd ©

(1) == (2) \USH

(3) Gorat (4) T
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107.Tamil is a reason for conflict in :

(1} Bangladesh (2) Nepal

(3) Srilanka (4) Thailand

aftre | dad @ T B

(1) ST (2) 9T

(3) sfretenr (4) oAU
108.This is an agglutinative language : _

(1) Turkish (2) Chinese

(3) Arabic (4) Latin

7e urgfrtey s €

(1) efner (2) ==

(3) arfereh 4) fes
109.The state of the glottis during the production of [t] is :

(1) -Closed | (2) Wide open

(3} Partially open (4} Vibration

T H IEFROT BT B '

(1) oS (2) aEs M=

(3) ohf¥rs e (4) drENeH
110. The minimal free form in a language is known as :

{1} Word (2) Phoneme

(3) Morpheme (4} Formative

et wrr # e | W Brt paemar B 7

(1) =% (2) srs=ieT

(3) =T (4) wRifeg
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111.'A course in General Linguistics' is a well-known book by :

(1) Hjemslev (2) Saussure

(3} Trubetskoy (4) Bloomfield

QT P T TS qT T

(1) =Yg 2)

(3) AR (4) STTHRS
112, [dentify the word with a geminated consonant ;

(1) Naag (2) Pal

(3) Pannaa (4) Kaarya

oA B Yed iy ¢

(1) =rT (2) et

(3) 9T (4) @At
113.M.T. Vasudevan Nair is a well known writer in :

(1) Tamil (2) Punjabi

(3) Malayalam (4) Konkani

TH.&. qrgRa A 9w S ¥

(1) qfas (2) 9Siren

(3) wHEARTH (4) =il
114. Interchange of segments in adjacent syllables in a word is known as :

(1) Assimilation | (2) Metathesis

(3) Contamination (4) Amelioration

aregter & e FHBATT & :
(1) TEFeT= (2) Herfag
(3) eherfREeE (@) TATTIIRI

29 ' P.T.O.



15P/238/30
115. Meerabai is well-kngwn for writing in the meter :
(1) Pada (2) Dohaa
(3) Satsaiyya (4) Sorthaa
g &1 & due & fou afgs S
(1) % (2) &Y
(3) waaan (4) @|er
116. Adverbial clause is a modifier of :
(1) Noun Phrase (2) Verb Phrase
{(3) Adjective Phrase (4} Prepositional Phrase
faQuorers a5 qitekds
(1) EsIeTeh (2) fFas
(3) fagromens (4) HIHIHES
117. Avadhi is related to :
(1) Eastern Hindi (2) Bihari
(3) Rajasthani (4) Western Hindi
et Tt ®
(1) gt oy (2) frerd
(3) reTeATEH (4) of¥=e =
118. What kind of a word is 'infotainment’ ?
(1) Loan (2) Blend
(3) Contamination (4) Abbreviation
FHITeTA< 3Fd T @l 9% B 7
(1) &1 2) <Is
(3} wrFafATeE (4) ushfeagr
30




15P/238/30

119. The Dravidian language among the following is :

(1) Onge (2) Santhali
(3) Kurukh (4} Khasi
I e # afee wmr @
(1) ot (2) Hereh
3} H=W (4) @t
120. Infixation is a productive morphological process in :
(1) Hindi (2) Arabic
(3) English (4) Punjabi
FIPFITT Th ATBTeNformer gftar
(1) == (2) oRfem
(3) gferer (4) Gorelt
121.Tones are used to distinguish identical words in ;
(1) Punjabi (2} Marathi
(3) Kodagu (4) Oriya
T W IART fRar Sirem B
(1) dsrEy 2) =St
(3) =T (4) N
122.The sound [p] in English is a :
(1) Voiceless Alveolar Stop (2) Bilabial Fricative
(3) Voiceless Dental Fricative (4) Voiceless Velar stop
Ao # [0] eafs 2
(1) @i eq - 2) smERe §
(3) &= I " (4) =t e g4anr
123, The affixation of the suffix-aai in Hindi word chaturaaii produces :
(1) Adverb (2) Noun
(3) Adjective (4) Verb
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ol o =gE g

(1) Tear fagror (2) =

(3) fargheor (4) fopam
124. Which of the following i1s a complex Hindi word ?

(1) aatmiiyataa {2) tulnaa

(3) amruuda i4) maanava

HA-A7 Sed =] g5 B 7

(1) ATHIHT (2) &

(3) IIHEE (4) AFE
125.The following languyage has a dual number :

(1) Hind: (2) - Sanskrit

() English (4) Tamil

e e W # @ g @ oi B B 7

(1) fe=d (2) e

(3) ofEsH (4) affr

126.The minimal needtfilling language evolved in contact situations to
facilitate limited communication among interlocutors is known as :

(1} Pidgin (2) Vernacular

(3} Lingua Franca (4) Provencal

A G W AT B |

(1) fﬁsﬁﬁr (2) TR

(3) feAaT Wept (4) Sha=Rs
127.The word ghar-ghar 'every house’ is an example for :

(1) Echo-words (2) Reduplicatives

(3) Lexical Doublet (4) Onomatopoeia

e gY-EY (U 9X) IEIT ¢

(1) gpEs (2) Rg<imies

(3) WAFAHA ST (4) STFHIRIIgEST
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128.Identify the language written with Devanagari script :

(1) Punjabi (2) Tamil

(3) Marathii (4) Tulu

SR Rl & R amr 99 qeeme EAIN ey

(1) gsEn (2) afere

(3) == 4) I3
129.The Jain scriptures are composed in : .

(1) Pali (2) Ardha Magadhi

(3) Magahi (4) Sihali

et geer <R B

(1) arfe (2) orEHTTER

(3) wTFTE -~ (4) fYEel
130.Vidyapathi wrote in :

(1) Avadhi (2) Bhojpuri

(3) Chattisgarhi (4) Maithili

Faemafer 9 <==m & -

(1) o1aeh (2) HrogH

(3) BT (4) Afeeh
131.The Hindi word pair 'raata’ and 'dina’ are examples of :

(1) Synonyms (2) Homonyms

(3) Antonyms (4) Nouns

o=l = g a-Re Samevr §

(1) HgwmRT (2) aﬁﬁﬁqﬁ

(3) faemm (4) s
132.The example of a closed class category is :

(1} Noun * (2) Postposition

(8) Verb (4) Adjective
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ST FITE F IAETT B -

(1) s
(3) fmam

(2)
(4)

133.The head of a Noun Phrase is a :

(1) Verb

@)

(3) Complementizer (4)

s fagyor ®
INERER]
(3) HIFIEX

134, The intiator for the g

(1) Lungs
(3) Larynx

wgE ety Sigew @

(1) &9
(3) Tt

135.The English words love and hate are :

(1) Synonyms
(3) Synecdoche

s e g oY

(1) GH=TERFR
) foRas

136.The manner of artict

(1) Affricate
(3) Lateral

{2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)
BT B!

(2)
(4)

(2)
(4)

34

QI
farqreor

Adverb
Noun

fepar fareroT
B

roduction of major speech sounds is :

Oral Cavity
Pharyngeal wall

AT B
waste atd

Antonyms
Homophones

e
BHHAE

1lation of the Hindi sound [k] is :

Trill
Stop
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et ‘e’ &1 I=ERoT B|r B

(1) Thibe 2) =
(3) e (4) ¥mM
137.The pronunciation of 'lucknow' as 'mucklow' is an instance of :
(1) Metathesis (2) Haplalogy
(3) Epenthesis (4) Anaptyxis

TGS Bl Toheld ISAROT & ST &

(1) #e™fag (2) TR

(3) worAay (4) wAiRRg
138.Which of the following Hindi words is Feminine in Gender ?

(1) ghar . (2} deesh

(3) bhaashaa (4) shahar

e feren gomm @m-ar s S ®

(1) =% (2) 3

(3} HT™T (4) 9T=X

139.What is the variety of language where maximum attention is paid to
monitoring speech ?

(1) Formal Style (2) Casual Style

{3) Sermon (4) Written

AT Bl Hi-81 ®9 T T IeERer g7 ifean e Rar swar
2?7

(1) wHEEd (2) HIAT €EHA

(3) €HEH 4) TofEa
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140.The Hindi word gidg:

auana ‘to plead' is an exampile for :

(1) Onomatopoeia (2) Borrowing
(3) lexical doublet {4) Contamination
et o= Rrsfrerr Semvr ©
(1) STFFRIEeT (2) =g
(3) wrgwa SEAEE (4) FETER
141, The work of Yaska is|:
(1) Shiksha (2) Padapaatha
(3) Nirukta {4) Aranyaka
qRF Ft vHET B
(1) farem (2) EUTS
(3) Mo (4) STYgEH
142.The abbreviation AAP is an example of : o
(1) Neologism (2) Analogy
{3) Acronym (4) Blend
Mg H1 GferelieroT [ JareTer ¥
(1) Frefienficy (2) AR
(3) B (4) =S
143. Identify the word with a consonant cluster :
(1) wvein (2) strong
{3} big (4} mine
A A at 9T & UeEE i
(1) o= (2) T
(3) fam (4) I
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144.The script used for writing Punjabi is :

(1) Devanagari (2) Arabic
(3) Roman | (4) Gurumukhi
Uomet T fR & Rt o
(1) ST (2) G
(3) W (4) TETE
1458.Find the word naming a product after the manufacturer producing
it :
(1) Tower (2) Kleenex
(3) Aeroplane (4) Motorcycle
SH A= B UEAE FHif Bl sae 6 yeEry S @
(1) 2faT (2) AT
(3) wA<= . (4) #ArexaEiha
146. What is the part of speech of ‘accomplishment' ?
(1) Preposition (2) Verb
(3) Noun (4) Adverb
e A% wfT #H wr qees 7 .
(1) et (2) Fean -
(3) «sw | (4) fpar frgroer
14'7.The part of speech of the Hindi word samveedana 'sympathy' is :
(1) Verb (2) Noun
(3) Postposition (4) Adjecvtive
el sz dHaemm § -
(1) febam (2) @sm
(3) Juget (4) har fLryor
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148.The italicized clause
chale' is :
(1) Adverbial Clause
(3) Relative Cause

in the sentence 'unke bataaye raah par ham

Question Clause
Finite Clause

(2)
(4)

RS BY ‘G ST T8 WX ' O §
(1) fpar fLooT arerisT (2) ¥SH ATh ATl
(3) TSI ATHINA (4) GRITHS: aTERATSl
149.The 'Voice Box' in the human body is known as :
(1) Larynx (2) Tongue
(3} Pharynx (4) Velum
il & ITeT WA #HOAM |
(1) fore (2) Forgan
(3) g (4) ATH
150. What is the part of speech of the Hindi word muskuraana ?
(1) Verb (2) Adjective
(3) Noun (4) Postposition
HEHUHAT 8 _
(1) Pear (2) Frar fadror
(3) ws (4) I
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ROUGH WORK
T et
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